(b) Find the present value of an ordinary annunity of
Rs. 100 per annum for 20 years at 4% p.a. 8
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Note : Attempt five questions in all, selecting at least one question
but not more than rwo from each unit.
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UNIT-I (&E-1)

1. (@ mwuaf\anlfvaénﬁ Ql.@& 8

—Z —y=0.
_ dx .

Bl

= |<

(b) If xPy4 = (x+ yP *9, prove that

Aﬂmu.ﬂ_ﬂ .t".x.*J\kul , fag =i A%IHV.MW.I%HO

X

(@) TR Pyl = (x + yP + 9, TOF FA m

2. (a) Ifus=log (3 + y3 + 22 = 3xyz), prove that
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(b) Determine two positive numbers whose sum is 15 and
sum of whose squares is minimum. 8

(F) A u=log (¥ + ) + 23 - 3xyz), fog Ffm
du Ou ou 3 .
0x dy 0z x+y+z

(B) R yeTF AF F @ G B A 15 B aen
I T F A = w

8. (3) ‘Bvaliste T 2% +3dx. 8

(b) Iffix) = a + bx + cx?, show that

1
TS&HWTStq@l&. g
0

(F) ¥a i : ._.a 2x +3 dx.
(@) R’ fix) = a + bx + cx?, TWiEw f&

_ f(x)dx= T@ti w :L.

dx
x(x°+1)°

4. (a) Evaluate ._.

(b) Find the area bounded by the curve x2 = 2x - y and the
X-axis. 8
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UNIT-II ( ¥ahté-II )
5 If x 3x-y e g 2 fid 8
- @ x4z Iy=w] |4 7| TEBHLW
l+a 1 1 fuss -
(b) Provethat| 1 1+b 1 unonh +—+-— iw
a b c
1 1 1l+¢
8
X 3x=-y 3.2
Aavﬁ ﬁNRaTN Uv‘liglﬁh ﬂ;. X, V.. L, W i. ﬂa
EaiE
(|) fag =ifvm fiw
l1+a 1 1 o s
1 1+ 1 unwnﬁl+l+l+~w.
a b ¢
1 1 l+¢
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